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PC: Algebraic Definition of Absolute Value Ms. Loughran

Do Now:

Use the algebraic definition of absolute value to write the following as a piecewise function.
Then graph it and find its domain and range.
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Work on the Algebraic Definition of Absolute Value Matching
Activity. When you are finished, please bring it to me to be
checked. Then work on the evens from the Review of
Piecewise Functions packet.
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Matching Activity Answers

2x-4  ifx >-2 2x-10 i x>5 ox+5 ifx >0
£(x) = {{ | £(x) = T 0 = |
ox+4  ifx<-2 2x+10 ifx<5 2x+5 ifx<Lo
x x>0 x+2 ifx>2 -5 ifx>2.5
f(x)= . f(x)= , f(x)= |
x 1tx<Lo x-2 ifx<2 ox+5 ifx<os
A J :
xX+2 ifx >-2 -=zx 1fx >0 zx-2 ifx >0
foo= 7 o= T £(x)= |
x-2 ifx<-2 2x x<o =2x-2 ifx<o
—
s - A
x it x >0 X-2 ifx >2 2x it x >0
f(x) = f(x) = , f(x) = .
x ifx<o x+2 ifx<2 2x itx<Lo
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